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: -What is Computer ? Dlscuss computer
and human bram =T

| Descnbe Input and autput units of

camputer with suitable examples

- What is DOS ? Write any ten(10)
- commands of DOS.

WI'_lat is the difference between mini and
mainframe computer ?

Convert F18, 367, E5.15 and 3A 2B

hexadecimal numbers into decimal

-

_ | i’ e
number.: - -Gy stis w.ﬂh-" .

%
-

S

- Add the following binary numbers

101011, 111011

1001, 1001, 1101
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5 (b)
L o

| :  , )
e b

(d)

‘The list command lists

"
. i

Windows R
Page Maker
Winword XP

Outlook Express

(i) Operating System is a collection of :

J i

Software routines

lnput-—output devices
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v)  Multiprogramming of Computer System
increases : | sl
a Memory
b Storage ' | Eas "
¥ | (c) CPU utilization ; |
d)  Costof processing =
¢ ~ (vi)  Toadd more records at the end of any database
' file, use the command _ . | A
(@) ADD | |
S TTD) T - AP R TR
| SO R L AR e e
S e () HISTALIEERG. T | |
50 . S (Wilk " When doesPage faultoccur?- - . . i o
~ Thepageispresentinmemory
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| (V“')I What is the fence register used ‘for ? it 1
| | (a)  Todisk protection | |
‘ () ToCPU Jtilization | | |

(c), Tomemory protection

(d)  None of these | S .

‘ (x  Whichof the following is 2 con?itién that causes
deadlock ? % f-[ .
(@)  Mutual exclusion o | i
| (b) Circular wa-it' L |

| o @ No creemplion el et - ¢ ¢
; o "(9; Alloftﬁeaboyé = “  o
5 T (x) ' Who aﬁﬁng‘thg fo|IQWingcén.6re§t§ a new

s
‘- L}

L
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y What (8 Operating gystem 7 What are the various
objectives and functions of oparating system 7

Discuss Process Management. Also discuss the
y life-cycle of a process.

4/ ~ Explain the following FoxPro commands |

(a) Pack
3 |
(tﬂ, Browse

(? Modify structure

$d_) DEL -
() AP
‘ 5. ?B;'leﬂy explain and compare Fixed and dynamic memory

part’itlenlng schemea.

6. 1 What IS Dlsk Scheduling ? Discuss disk schedulmg
algorlthma SCAN CSGAN FCFS, CLOOK. |

i
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% - Degree (Part-l) Examination, 2021

8 < ( Vocational )

. ch Subject : MATHEMATICS

2 < Code : PPU-D-I{VOC)-MATH .
I Question Booklet
o Number |

(To be filled in by the Candidate / P qftfar ol &g ) | 100491

Roll No. (in figures) & Lo

FHAF (37 o) | Booklet Series
Roll No. (in words) L prasa & DL A C
A (o=t |) '
Rl Y o [Maximum Marks : 100
Name of Centre —<— N Y _BR T (1™ 3% : 100
P H AW [Time : 3 Hours
Centre Code R 999 . 3 e
D% B B
Signature of Candidate Signature of Invigil:
qhErelt & s F-FEF B B E
Instructions to the Examinee : vhaRial $ g Fdw
1. Do not open the booklet unless youare 1. mﬁ-gﬁaaﬂ H T9 TH 7 G 9 9F T
asked to do so. FET 7 AT
2. Thereare 120 questions in the booklet. 2.  w¥-gRea & 120 997 & wlarlt & 3aw 100
Examinee is required to answer only 100 9 W I & T OMR ITFFH § 27 B
uestions in the OMR Answer Sheet W : :
:nly. not in the question booklet. E.::eh ?;-Eﬁ mq%ﬂq?; Sﬁ; m;ﬁg

question carries equal marks. If more
than 100 questions are attempted by B I ST & & s & R gT 100

- student then the answers of first 100 I W & affer B s
questions will be included.
3.  Examine the Booklet and the OMR 3. =¥l & I o &Y ¥ W wer-gRea oo |
Answer-Sheet very carefully before you OMR STReY-die i HraIgEs 2 et |

proceed. Faulty question booklet due to m—gﬂﬂﬂi ﬁlﬁﬂ
missing or duplicate pages/questions or 5 AR LR R
having any other discrepancy should be T T H NG IR BY T 8 a1 Iud Rl

immediately replaced. I TR FH A B, IW GO & A
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n’ x" : n®
—— e s——— e S S— e -
24 2468 24681012
(A) e | (B) 0
|
o> S i
sin@ 1349
2 [ S i —— =
T R
approximately.
|
(A) 1—5' radian

l |
9/- l—f radian

(C) 0.01 radian
(D) None of these

3. If logla+if)=A+iB,then 4= .

(A) It::ag(u:::t2 4 Bz)
B loglfa® +p
(C) 2 |Og((13 4 [3:")
O)  logla+B)

4. If 4e® + Be™ =5¢c0s0—7sin 6
Al = i
(A) 25 (B) 49
(C) 37 (D) 18.5
d. i =......

e
(@)/ e—[4n+l)ﬂr!2

(C) oldn+)x/2
D) None of these

6. Sin Ax =.....
(A) Sin ix
(B) —sin ix
€  isinix

}DY —isin ix

1404-01-C/615

iiiiiiii

then 4.

(3)

v
ARk MMM OIS s 2%, < e ;
24 2468 24.68.10.12
/) S ® O
4
1
© = © 1 ’
sin® 1349
qiY o ey WG |
SHERT
1
L REDE]
l
(B) D) (SR
©  0.01 dsT=
O) & 4 P &l
IR log(ae+if)=A+iB B A A=.....

(A) b;:rg(t:n:2 + Bz)

®  loglya’+p’)
€  2logla®+p?)

D) log(a+B)’

A& 4e® 4 Be®='5c0s0-Tsing &,

lllllll

(A) 25 (B) 49
€ a7 D) 185
(A) o2
(B) o4t
(C) e{4n+l}t!2
O T H B T
sin hx =
(A) sin ix
(B) —sin ix
(C) isin ix
O)  —isinix
IRT.0.]
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, A 4]
i f ]

n‘, - g n ISP - ¥ s - = e FIG Ll S
BX 2468 24881012 -

- R A S S

S _+.
24 2468 2.4.6.8.10.12

(A) -1 (B) 0 (A) ] (B) 0
|
© o © 5 o
n® 1349
sinf _ 1349 % 2, gt TE=—— AN 0=
. Ry e O et
approximately. NI
|
(A) ]*lg radian (A) 15 ELE
I
9, 1—I2— radian B 13 AERE
(C) 0.01 radian - (C) 0.01 eI
0)  None of these ©) ¥ q BR T
3. Iflogla+iB)=A+iB.then 4=..... 3. AR log(a+iP)=A+iB A, M A=.....
(A logla® +p?) A logla’ +p?)
(B) lﬂguﬂ-z +P° ] (B) log(\/az +f )
€  2logla® +p?) €  2logla’+p*)
(D) log(cw +B) b) log(ec +B)’
4. f Ae® +Be™ =5cos@—7sin6 then 4 T 4e® + Be™ =5c0s6 — 7sin© 8,
AP A AB=....
(A) 25 (B) 49 (A) 25 (B) 49
© 37 D) 185 C 37 D) 185
. = L . RSk
(AJ ar ke (A) e "2
}J/e €+{4n+l):rf2 ' (B) €~[4n+1)1rf2
(C) €{4n+1 Jn/2 (C) e{a n+l)n/2
(D)  None of these | O) W i—’I g el
6. sy =i 6. SinvhAY =1..;
(A) sin ix | | (A) sin ix
(B) —sin ix (?) —sin ix
(C) isin ix (C) isin ix
}DY —isinix O)  —isin ix
1404-01-C/615 (3) [P.T.0.]
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o |

X
T e (AN et
S = tan ' — -+ tan 3 ; -+ S = tan -l_'l" 2.1'2 6x
+2X° | + 6x E
" X | — A rees P
mnll+12x2+ ..... o0 tan [+ 12x
then § = ....... E-ﬂ' § = ssees
(A) tan ' x (A) tan”~ x
t "[ I ] tan ‘[-—I—)
AN’ ——
9/ 2x (B) 2
-1 1 tan L
() ian pr € X
(D)  None of these o) T 4 P el
\
. 3n _ 3n n>m E‘T:."- m
= > : -3|<e, Vn =
B s e e iy 8. - [ TR ke
positive integer m > ..... TF T%E m>..... B G
15 15 '
(A) = (A) 2
75 75
(B) ;T (B) =2 &
150 150
©) o (C) =
225
'%"222 | | O i
c o g
9. The limit of a convergent sequence : 9. o e A A g B B
~(A) s unique _ A  SfEaE
. (B) is not unique | (B) AfEag @l
,. /)/ ‘does not exist | . @  SfdE #
- _' | |
o none of these | | O FH q ﬂ'ﬁ BEl
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10.  The sequence {s,} where, 10.

Ll i
SIS e =G

243 n
(A) convergent

(B) not convergent

((,Q)/ not defined

(D) none of these

1
1. The series ZH—.,. S : 1.

(A) Divergent
(B) Convergent
(C) Oscillatory

,(D)/ ~ None of these

12.  The function 12
flx)= xsinl, x#0
X
=0 e =10

S :

/(A')/ continuous everywhere
- (B) continuous only at x =0
(C) not continuous at x =0

(D) nowhere continuous

13. lim (isinlj | 13.

-
X=»

X X

(A) IS o
)B}/ IS |
€ is0

(D) does not exist

14, A function f is defined as )=l 14

then :
f is continous at x =0

)(((:;) f is differentiable at x =0

M both (A) and (B)

(D) none of these

1404-01-C/615 L (5

%ﬁ{ﬁ}ﬁﬁf - B
a:l+l+l+. ..... +i ....... %
213 n

(A ARER

B)  3I™ErR @l
C)  uRwNa =&l
O) & 9 HE Tl
2ofy Z”]z ....... 2]
(A) IR

B)  IAET

C) Qe

D) T E B T
el

_fh)=xﬂnl,x¢0

—i () ==
A) U39 gad &
B) I -0 I Gad &

C) x=0 T gad 7@l 3
D) et it gag TE B

A o ¥
B 1 g
G &%
0) ARd" & B
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. RAF T
15, Ifthe radical axis of two circles cuts the line 15 N R A 8 a

joining their centres at an angle ¢, then

0% sy O Fmon :
A 3’ (B) ' ; ~ (Ay 30ﬂh (s) . :g“
LR Dt W R ( lﬁ bysos
16.  The focus of the parabola y? = 4(y - x) 16, @ y'= 4 o i B A
1S : |
BX (-12) B (0,2) a  (=1,2) |  (0,2)
(O (030 O 62 0 2 m (32
7. If the normal to the parabola y? = dax at 17, O Wa@d y’ =4ax % fag (“‘Eaza‘)—.
the point (az?,2ar ) cuts the parabola again q¥ 7 el aeaed (aT * 2aT)
at (a7?,2aT) then : T redr @,
N8 as (A). NI B |
B Te]-w-8U]8 B) Te]-w-8UJ of
Gy <Rl <2, s € =22752
Dha 7% <8 D) 7 G
18. If y=2x-3 is tangent to the parabola PR 3 =4p(x--%J
¥ =4p(x_?lij ten, p=.. W ot &, A p=
(A) = A
(B) Lo (B) —1
(C) 1; (C) %
| 14
(IEJ)/ __13{ | R
19. If the 'circle x’+y*+2Ax=0,A€R 19. Qﬁiﬁ X +y'+2Ax=0,Ae R TETH
_ touches the parabola y? =4x, externally yi=4x B AEITC: T &I,
theny';: a :
(B . 150 | B 150
sy B, <0 , (B} .- A<
r R0 4> G A
@ Noneof these O A B

(6)
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23.  If p be the angle through which the axes 23,

be turned about the origin so that giva: g9 WS ;

3x* +2xy+3y° may become an 32+ 2xy+3y P gt o <y,
expression independent of xy, then gaed 4=...

g=.... A o (B) 450
oy R 0 60° D) 90°

€ 60° D)  o9p° ST,

24. The eccentricity of an equilateral h;]perbola 24. Wﬂ?ﬂ“ AT i
1S : SRl : %

B 2 ® B A i ED)) :
C 9) D (C) Db )

25. (Tt:e nuéber of values( o)f % s3uch that  29. c B g @l G gL
y=4x+c touches the ellipse y.=4x+c, iﬁ%ﬁ f£-+y2=1 &7 Tl
§+J’E =l [ &

A 0 (E)s ] (A s 0 (B) |
/@) 7 (D) None of these (C) 2 (D) ﬁﬁ g Eﬁé Tel
26. lIfaline makes equal angles withthe coordinate 26,  3i& T x@r e 9 g HIoT S &
axes then its direction cosines are : q zae e A .2
Iy 15 | I bl
L~ BB A B e
R g AT |
NI @ - " FES
I gl l |
L T 9 B
e ] | s h el o
Pl N i, Y BB

27. A first degree equation in x,y and z 27 x,y U@ ; ¥ Y¥H UG F TH
represents : ' gHHI. ......... P el & 81
(A)  astraight line A)  TFH G @l
(B)  astraight line parallel to the x -axis . B x-OW P GEFOY U 9@ @l
(C) = aplane C) TP HAA | |
D)  noneof these O) T 9§ @5 7@

1404-01-C/615 | (8)

ol et S
PR e B
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28. If the points (—l.2,4),(2,—1,3),(—2,3,5) 28.
and (1,4,-4) are coplanar then
A=
(R, Bl =)
© o D
; ( )l 13 29.
| x-2 y+l z-
29. Th = -
e lines - : > A and
~-1__y—2=:»':*-2.t |
5 | 3 Intersect at :
®  (L-11)
/(/ (-L1,-1)
(2,2,-2)
(D) None of these
30. The equation of the line, 30.
2x—-3y=2z+1=0=3x-6y—-2z+2
In the symmetrical form is :
.
TR i
6 2 3
Xy 2 NZ2=3
) e 6
©) 3 A6
(D) None of these
ax b X z
31. Thelmes-———- Y = , =2 = and 31
ol TR W
Waa oy z
— T —— T — f
7 R are coplanar |
A  (a-b)(b-c)(c—a)=0
- (B) (a—b) (b—c) (c—*a);t()
©  (a+b)(b+c)(c+a)=3
(D) None of these
1404-01-C/615 (9)

i —

TENAITIN N ANy - .

AR 1&g (

'IUI-L;H.H.I.II- T e LA DN -

-1,2,4),(2,-1,3),(-2,3,5) @

(11/1*'"4) H'Fl?ﬁﬂ?l éT Eﬁ =

GO, B) - T
(G %0 @) >
% 2 :
3T e S B ad
3 —2 4
x_]_y_z_a_‘z
TR T Th-gEL ... - ‘ZR’;’_::,
Eﬁlﬁ %l A S J\,::fﬂ:-f’ '; é,
A QL) T T
AT
(B) (_1:]:“1) - ‘?if.’,/,:'
‘V*-‘ ";#’__,:""'H, o
g (a2 B
D) s:ﬁ- ﬁzﬁé qﬁ % € 'y:" A
T @, (\'_ e . __'__,r"".
2x—3y—2z+1=0=3x—6y—2z+2 L ekF |
H AN ® & gfiEer...Eam ¢
v ) '
._..l :E-‘ </ ’ .- ¥ o
(A) i:-{.}j—_S:E : : .-,,,"‘":,: 5 53
= 6" 2 T e
ya] My g 3 G R TNCEE T
/
©) 3286
D) TH § Hig &l
rard E:b_yzcz’x___yzzqa.
ot ey s e
=2 - g B, R
al bm cn
A - (a-b)(b—c)(c-a)=0
B  (a—-b)(b-c)(c—a)=0
(C) (a+b)(b+c)(c+a)=3 | s
O) & § HE &
[P.T.O.]
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32. (sin 0 + /cos B)E” = 32

llllll

(A) C0S2710 — isin 2,10

=

©) (Sl cos 2n0 4 i sin 2n0 )

SIN 216 + i cos 21l

O . (=1)"(cos2n6—isin 2n6)

R e oy 33
(A) —128
(B) 128
(C) ~ 256
(D) 256
2 (I - \ﬁ+ f]q 8
]+ \/EHI ....... 34
(A) =) (B) 2
(C) r {5)
®. M (a+id)(c+id)=A4+iBic then 135
e R
(A) ac + bd
ac — bd

36. If x, = COS;— it Z'Sin;- thed: X x, x,..... 36.
Uploi coi= ...
(A) -]
B 0
) el

(D) None of these

37.  The sum of the roots of the equation 3 —1 5’
IS : :
(e =1
B 0
(e )
(D) None of these

1404-01-C/615 (10 )

(sin O + icos0)

21

J—
—pEEmaRw

(A) cos 2n0 —isin2n0

(B

) sin 210 + i cos 2n6

(C) (—I)”(cos 2n6 +isin2nb )

) (_1)”(cos2n€ﬂz'sin 2né)

(D
(1+:R/§)E + (I — 3)8 .
A)  —128
(B) 128
C) ~256
O} & 256
I+\/_2_+£ ; 4
S s
(A) =2 (B) 3
€) l (D) =
% (a+ib)(c+id)=A+iB, Tl

A% B =

(A) ac+ bd

(B) ac — bd

©  (a®+8%)(c*+d?)

O (a’+c%)(b°+d%)

gfg ,rﬁzcos;-+fsin2£k g, dai
X X HAAd deh =........

(A )

B -0

(&) TS

0) T q BE

THIBT 3 =] & Gell & ...
B T

@ o

B) 0 (e

€ up “EEARES AW

O) FHAHE T -

......
_______
)
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: | .
B i 38,

X=bi} l il E X

(A) s equal to 0
(B) is equal to 1

(C) isequalto e
(D) does not exist

39. If £ and g be two real-valued continuous 39

functions such that f+ g and f— g are
differentiable, then :

(AY f and g both are differentiable

-

(B) f is differentiable but g is not

(C) g is differentiable but £ is not
(D) neither f/ nor g is differentiable

40. If f(x)=€"' and g(x):!nx then  40.

(o filz)= .
(AY 0 /B) 1
G e D) 1+e
41.  Ifafunction £ is continuous in [a,b] and  41.

f(a) and f(b) have opposite signs then

there is at least one value of x € Ja,b| for

which f(x) equals :

B sl B )
(€)' "0 (B).

42, If the circles x? -y-y2 + px+3y-5=0 42

and x?+y> +5x+ py+7=0 cut each
other orthogonally, then p =......

(A - ® 2

| _ 1

e (D) 3
1404-01-C/615 (i)

TR B fegud f-g I
STgHTHIE B v

A  f AT g A SEHEE B

B) [ ITIHaE BT wiehT g el
C) g ATHeHE R A £ T

(G} e O 1+e

IR £ & G 2 A [o,b] F GG
T f(a) AR £(p) & e RAuda & A
xe]a,b[ H FH-G-HT Th A e

A fla) B  f(b)

€ 0 ()

IR 9q x2+y2+px+3y——5=0qfi
x>+y°+5x+py+7=0 @-Kﬂi &l
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43. " The number of planes through the line of  43.  THHT et @ qfere8e & | ﬂil{il

it _ :
Intersection of two non-parallel planes is ar dal bl el Bl
L | (R
B 2 B2
(C) 4 € 4
D)  infinite 0) o
44.  |f igin lies i - '
,hthe ongin lies in the acute angle between 44,  Ffy gal ax+by+qz+d =0 T3
the l
Planes u,x+b|y+cl;:+d|=0 aj.r+b;_}’+ﬂ'13+dz=0 P g BT
and a,x+b,y +c,z2 +.d, = 0 and 3 i gm fag Rud & o
P= ala! +blb2 + ¢,C, then f = a,da, +b|b3 + G, 65 a’ Eﬁ :
(A) P> A) P>0
B P<o B P<0
(0) None of these 0) 3 | PR T
4. Ifthe planes g x+p y+ez+d =0 and 45 IR qA ax+by+cz+d =0 W
OX+b,y+c,z+d,=0 are parallel. a,x+by+c,z+d, =0 HHITAT Bl
then: ar
o TN TR,
A — = : = 1 ﬂ! — bl — i
(/) a0 e A) a, b oc
a bl ﬂ_ a, b, ¢,
() a, % b, g & (B) a ¥ b, ) P
10 o 4 _b
(©) diie By 1, ©) ﬂ:. b :f—L
a¥._ o . .4 a &g
D = — L=l ="1
( ) az CZ dl (D) HE {.'_,_ dl
46. If a plane passes through the points  4g e uF a4 ﬁ%\;ﬁf (1,-2,4),(3,-4,5)
(1,-2,4),(3,—4,5) and is parallel to the q TORAT B 0F -3 3 9T B, ar
x -axis, then its equation is : IHH GHHT.. . B
(A) y =2z (A) y=2z
((E’ 2y=2z (B) 2y=12z
(C) y+z=6 (C) y+2-6
(D) y+2z=6 © y+2z=6
1404-01-C/615 (12)
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47.  Every convergent sequence in real number 47
He el sty sequence.
(A) Taylor's
(B) Young's
(C) Maclaurin's
(ELH" Cauchy's
48.  The series ) H?/E | is - | A8
(A) Convergent
(B) Divergent
(C) Oscillatory
(D) None of these
49, If 2.u, be a series of positive terms and  49.
u,
n*nut
if :
@A) l<l Bl =
(C) Ji= (D) =1
50. If >u, be a series of positive terms and  50.
lim 4!"" =/, then Xu, is divergent
if :
B i<l B i<l
@) - I>1 By =l
51.  The series Z(l +—:;) S : 91.
)  Convergent
(B)  Divergent
(C)  Oscillatory
(O)  None of these
1404-01-C/615 (13)

E

Ao goft B B :
(A TR |
B) I

C) WA I
0 @l
P

yofy Z”:/fl ....... B 5

(A)  F™E -2

B) ATER < __H_,/\

c  ferd ‘ ;fjm S
D o @ P W 242

i zu”wmaﬁtrﬁa%’r'lfﬁ@f"ﬂﬁ@

im e 8,

) |-

A l<] B I=I

) > B =i

(B)
C)
©)

(P.T.0.]
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52‘ 2 ¥ i
The lines, whose direction cosines are  52.
.f,.f.ﬂ,,n, and /,,m,, n, respectively are
Inclined at 4 5° to each other, then :
(A) b, + mm, + nn, =)
(B) {IZE + ???l.*?}'._, + nn, = [3_
7 )
9 fIf + mm, + N, = _I__
| V2
(D) /II" +m|m2 "|".\"1'|}f|'i:II -—l
53 i
, The shortest distance between the lines
X—=2. .y z-3 i
3 Tl y and
x~l=y-2_z—2,
e
A= 0
(Bl ]
2
C ——
(C) NG
D | ]
V29
54, If @, B,y be the angles which a line makes 54
with the axes, then
sin® & +sin® B+sin? » =
(A
B 2
19 3
D) 4
55.  Theangle between the lines whose direction  55.
cosines are given by the equations,
[+m+n=0; I2+m2 -Hz ZO: 8
(A)  45° B)  60°
€  9p° HHDI S gage
- 1404-01-C/615 (g

(A) L1, +mm, +mn, = 0
V3
(B) L+ mym, +my ==
5 il
(C) L1, +mm, +mn, = —-ﬁ
l
(D) ZIIE +m|m2 +H|n2 = -"2—

xr—2 JJ+I 2—3 -
—_——= d
B .

(o

... 81
A0
(B) 1

2
€) NG

[ ]
B

;ﬁ@m;aﬁﬁm a,ﬁ,y EF[I?ﬁ
,

sin“ & +sin® B+sin’ y =

B )
Bl -9
(&) Sy
D) "4

T e, R Ry sisurd
HHIHTOT l+m+n=0,1 +m* —n =0

& TR B, F o w2
() 450 ® 60
€  90° O  120°
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O & A & T8
57. @l x @F.........de; B
A TR ' |
@ B
©  ouiAg
O T A

| and {1, be sequences such that 58, af% PRI s, } o {1} 58 e &

lims, =/, lims, =m @

lim[—s-ﬂ-) .
per

[
(A) ;,l #0 ‘
| [
(C) -?J #0
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60.

61.

62.

63.

1404-01-C/615

The eccentricity of the ellipse 60
Ix“+4y°* =12 is
N s |
. -
|
. l
B B
p Is a variable point on the ellipse 61.
.1"1' y:' |
2 Ty = hwith 440 as the major axis
Then, the maximum value of the area of
triangle APA' IS °
(A) ab
(B) 2ab
(C) -;—a/)
(D) None of these 67
The radius of the circle passing through the |
P 2
foci of the ellipse ':6 +2—=1 and having
the centre at (0,3) is :
A3 ® 243
© 6 Q 4
The equation, 63.
ax® +2hxy + by’ +2gx+2fy+c =0
for 46— K% < represents :
(A) acircle (B) a parabola
(C) an ellipse (D) a hyperbola
The locus of the point of intersection of 64.
X Ayl .
—+==k Ta-=— i FIS
g b " g b Lk k
variable.
(A) a circle (B) a parabola
(C) an ellipse (D) a hyperbola

(16)

dga 3x’ +4y" =1
gl '
I Ko
A .0
|
| o
@5 WS
2 p
g 4=l T PP S

(A) ab

(B) 2ab

(C) %ab

O T B

qzsgﬁasr%a(o,a)%@%iﬁ

2

d’re‘.iq_?r % +y2=| aﬁmﬁﬁgﬁﬁ%l

16 9
g9 gq & ... Brl
A 3 B 25
G 6 O 4
AR, -

ax’ +2hxy+by2+2gx+2fj)+c=0

Siel ab — h* < () ﬁ'@ﬁm%@miﬁﬂ

(A) g (B) Ydw™

) drga D) RrET

2 .x_y_l :
a+b a. .o ik %mﬁs
;l [guy TF...... B, ; UH =Y
|

(A) 9d

) dHgw




3
66 WA=l . |then A(adjd)=....... 65.
10 0
@ 0 10 (A) 0 ]0]
; 0 10 i B 1
©) [IO 0] /B) 10 0
101 [ie 1L}
‘C’ [1 10] © |1 10
T F1 107
9' !_IO ¥ T SR
P 2] 1 0 0 I B % 170 9
66 ":A=0 TR ﬂﬁdI=0 i 0 66 .qa.A=0'l 01@;.]:0] 0
-4 0 -1 0 6 1 -4 0 -1 ALEIO A S
then rank of (4—1)=...... Ad (4-1) & Hie........ 28N
A 0 (&) 0
B) 1 N B
© 2 | € 2
O 3 ) 8
N B o
g oet, L WEEGIEl gie. real . 87 SRS Ao b @7 0b#0 g
numbers and ‘M=Az'",m IS a positive 'Hwﬁ % 9 M= A" m Th ﬂ?ﬂ?ﬁﬁ;
integer, then Af=...... - Tﬂ'ﬁ%, ll M £ i
Ii azm me E | | B alm blm gl
-blm _alm . | (A) :

Pt o
(B) | ( éz_. +b° ) g




69.

70.

1.

2.

/3.

1404-01-C/615

- - .
A » '-- '] L] -
| L - r s >
SR N
=" .

f 4c D and B < D, then

68.
[An(D-B)lup=
AR B  4nB
G 1)
It 4 and B are two finite sets having m 69,
and  » elements respectively, then
the number of distinct relations from 4 to B
IS :
(A) m+ n }3) mn
©  gm O g
It a set 4 contains eight elements then  70.
the number of non-empty subsets of 4
S :
(A) 256 (B) 255
(C) 128 (D) 127
A and B are two sets having five common 71,
elements. The number of elements common
to Ax B and B x A4 S :
(A) 0 (B) 5
(Ol .25 D) 3
If » be the number of elements in aset vy, ' 712
then the number of elements in the power
setP.(x) is :
(A) gt s (B S 1
(&) ST (D) n
If 4=1{c:x? +6x—7=0)and 73
B={x:x2+9x+l4:0}
then 4—B=__-
A -7}
® i}
© {7
O {2-7}
(18)

R 4cp T BcD & A
[An(D-B)|WB=....

A ey (B) AN B
) 3 (D) B

af 4cd B A TR age 8 R
aTqaal & EEAr HEL: m 3 n & A 4
A p F g B o A faf

dee a5 ge&r... . .8l

(A) m+ n B) e

) om . 2

IR o W 4 § o8 @
1 % s ST-age # ge......
Bl

A 256 B 25

© 128 o 127

4 3R B 2 qy=@ & FH I oaFa
SAMT 81 4« BT Bx 4 H IS

3TEgql & =T . .. ... SRIL
(A)s B) 5
€ .25 D) 32

aTEl H GEAT..... ... B3I
(A) -1 (B) 2" —1
€  o» O n

A A=t{r:x? +6x-7=0)ud
B={x:x2+9x+l4:0}

Wl fpee
A {-7)
®

© {7

g LT
ILI-:!: .I\. ;
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74.

7%,

76,

1.

78.

1404-01-C/615

If (¢G,¢) be an abelian group, where 4 is 74

defined as arh =g+ b4 1 0);

Va,b,c € (7, then the Identity element of
G Is:

(A) 0

(C) ~10 (D) 10

IfA:{Bn:n*eZ} and B:{Q}?:;-;’EZ} 75.

be the subgroups of (z ,+) then
subgroup.

........ IS a

A (4B
B  (4nB+)
(C) (AU B, ')

(D) (4N B, )

If (z,%) be a group in which « is defined 76,

as, m*n=m+n+|; Vm,n e z then

5e z has aninverse : -
A S (Blaf =5
C© -6 @) -7

In an abelian group, order of elements a 77,

and p are 4 and 3 respectively, then

) RIS B)  (ab)”

B 2 O b

Inagroup (G,*), ae G then the number 78

of such ' o' satisfying a*a =a IS
1) B 2
© 3 ©) infinite

(21%5)

i (G,x) U SmaE q9E B T 4 39
G E BRI | %, a*b=a+b+10;
Va,byce G @ G H @9 H (identity)

(B 0 (B

€  -10 () S (0

A A=Pn:inez} T
B={2n:nez} (Z,+) & ITTE @

©  (4vB,)
@) . (4B,

e (z,+) TH 8 B FoTEH « 9 UAR
RS Eﬁ, m*n=m+n+1;
Vm,nezt’ﬁseg Dl JobH...... '@FT[I

(A) 5 (B) ~ 5
(C) -6 (D) i

Uh AEdl qYE H HFEal g 0
b B Hfe HAM 4uwg 38, @

(A) g B): - fab)”
5 s RGN

Th € (G.*) ¥ aeG M a*a=a
P TG FO AW g B .. B

e B T
(C) 3 o)
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79 ?lﬁ'R={(x,y):x,y‘1"ﬁ55€f@WﬁS

79. f_f : d{I:Si}b)'e ;;}5;1['6 integers such that 459 x_yﬁ'i:rrﬁﬁ 2
then R is : At R TP
(A)  not a relation | (A) gay el ®
(B)  arelation which is not symmetric @ ¥ ¥ v @ T g
(C)  arelation which is not transitive (o) g T AR T
D) an equivalence relation (D) gl GECES
8. I A={234) and B={apclbetwo 8. X A={1234} T B= fa.bc} @
sets and R,,R,,R, and R, be relations =4 gl ud R,,_ R,, R, AR KA q
from 4 to p given as : B § dey & 8,
R ={(1,a).(1.6).(2,a).(3,b).(4,5)} R ={(1,a)(1,b)(2a)(.6).(4.5)
R, ={(1,a).(2,).(3,6),(4,c)) R, = {(1,),(2,0).(3,b).(4.C)
R, ={(1,6),(2,6).(3,6),(4,c)} R, = {(1,5).(2.5) (3,5}, (4.¢)}
R, ={(1,a),(2,b),(3,c)} R, ={(1,a),(2,0),(3 c)}

Then a mapping from 4 to B is defined

by | oo &l
(A) R, and R, (AY " R, R
(B)  R,and R, B) R UIUR,
}9) R, and R, 9 R, W R,
O) R, and R, D) R @ R,
81. Observe the following statement : | 81 R 99 @@ E’ﬁ =R
A relation g is Qeﬁned in real numbers Qs R § gy R 39 UHT
by xRy =3x+4y=5 and (i) ORI IEIIE | S XRy = 3x+4y=5 T
] 243
(ifJ S =42 ) '23‘3% L QRl (i) IR—;- (i) %R% (iv) %R%
of these statements........are correct T FYEl H....... g8 &
(A) (i) and (iii (A) ()T (i)
B) (i) and (il B)  ()T= (i)
(C) (iil) and (iv) e C) (i) TF (iv)
@) () and (iv) | O ()T (iv)
1404-01-C/615 (20)

a R B LA e T
A g |
" Ls 1idal -
R L Lhy D o W) |
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82 Which of the following sets is convex 82
having infinite number of extreme points ?
(A) {(.t‘,,.r:]:xf + x5 =16
(8) {(xl..\':): X + 2 < I(ﬁ}
€) {(x“x:.): X, +x2 < ](1}
(D) {(.1‘,..1'3):.1*,’ +x3 > 16}
8. I 4 and B be two convex sets in | 8
then......is always a convex set.
(A) AU B
(B) AU B'
) ANB
(D) None of these
84. Simplex is a n-dimensional convex  84.
polyhedron having......... vertices
(5 R
(B) n+l
©)  n-l
D)  »?
85.  Which of the following is standard formofa 85
LPP ? ;
(A) Max. Z = CX,
St. AX <b,X >0
(B) Min. Z=CX,
St.AX 2b,X 20
(C) Max. Z = CX,
st AX =b X 20
(D) Min. Z = CX,
st AX=bX20
86.  Which of the following is true ina LPP? 86
(A)  Min Z=-Max(-Z)
B  Min Z=-Max(Z)
©  Min Z=Max(-Z)
(0)  None of these
1404-01-C/615 o

frtfefr # - e oo B,
foret ot o famg & 7

(A) {(.\:,,.r:):.rf + X5 = 6}
(B) {(rl,xz): ol A 6}
(C) {(1 X ) XX & 6}
O  {x,x,): x> +x% > 16|

IIEA@'{B E" ﬁﬁ’rﬁﬁﬁﬂﬂ?“q

(B) AU B'

(C) AN B

0) &H § B3 T

Rraaied T »-l99 3Td qghelh g,
Rrad. ... 2

(A) n

B gl

(C) n—1

D) n’

for=t & BIF-91 T LG, FH AED W

g ?

(A)  AEHTH Z = CX,
Al & N AX <b, X 20

B) M Z=CX,
Al & SMEH AX > b, X >0

€ I Z =CxX,
Al & MMM AX =b, X >0

0) T Z =CX,
Al B AN AX =b, X >0
WHINg ¥ e ?

A)  Min Z =-Max(-Z)
B) Min Z=-Max(Z2)
©  Min Z=Max(-2)

© TR P T

[PTO]
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88.

89.

- :
A’_ =1 ‘%E o e

i - S 50 = s e

: 5 o= G

C=4Bthen ¢ _

B "y

(_C) =C (D) BA
00

A=10 0]

I 500 then,

rank (4+ 42 + 43)=

)

(B

(&)

(D) Ncne of these

Inthe given Linear Programming Problem
(LPP),

Maximize, Z =2 X, +3x,

~ Subject to, 3x, + %5 =<3

X15%, 20
the maximum value of 7 is :
& ] ) - 2
Gp .3 ()N

In the LPP,

Maximize, Z =6x, +10x,
subject to, 3x, +5x, <10
85 +3% <15
XpsXy 20 |
the number of sollithns for which Z is

87.

- 88.

89.

90.

ke L i
i SN P R . L
= P
L i ]
1= 2_'
C=AB é’fﬁ’f €=t
® 0 -
€ “2e O B4
Fg- 10
qﬁ.A—fﬂ ] il a,arA+AI+AJ
SRR
F Fe........ 21|
A
(B g
€ 3
0 T & Fg Tl
& &8 e der g (TA4.)
Y, Z =2x, +3x,
Il & I, 3x, +x, <3
KXok =0
q 7 H T TH...... 2
B B 2
c 3 © 9
TaE. |
YA, Z = 6x, +10x,
Tt & M, 3x, +5x, <10
5x, +3x, <15
| X%, 20
7 oel @ wew PR faw 2z

AFETH Q’....Mi
A 1 ‘
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01.  Given Q= {1,2,3.4,5.6,7.8) 9. Rar & Q=102734,5678]}

A=i,234} and B ={2457) A={1,234'T@ B={24,57}
hen A UB” = ... G AR R =
B 135678 A {35678
(B) {LS.G.ZS} (B) { ,5,6.718}
(C) {I.R(LIR} (C) { -3ﬁz713}
O {3578} D) {13578
92.  If P(S) be the power set of 5, then for 92, aR s @ u @ge=d P(S) &,
sets 4 and B . FIWAG?RB%%Qi
A  P(AUB)=P(4)uP(B) Ay  P(AUB)=P(4)UP(B)
B) P(AVUB)=P(4)nP(B) B) P(AuB)=P(4)nP(B)
© P(AnB)=P(4)~P(B) €  P(4nB)=E(4) a5
0 P(ANB)=P(A4)UP(B) O) P(AnB)=P(4)uP(B)
03. Given 4={a,b,c,d,e, f,g} and 93. Ra B 4={a,b,c.de f,g} W@
() 4 ={ab.c};4,={cd}, 4={f,g) () 4 ={abe), 4=lcdl, 4={F72
(i) 4 ={a.b}. 4 ={b.c.d}, 4 ={d.e f} (i) 4 ={a,b}, 4 ={b,c,d}, 4 ={d.e,f}
(i) 4 ={a,b}, 4, =1b,c.e}, 4, ={f,g} i)y 4 ={a,b},4,={b,c,e}, 4,={f.g}
(iv) 4 ={a,b},4,={c.e [}, 4 =1{d,b} (V) 4, ={a.b}, 4 ={c e f}. A =1d b}
then.. e gives a partition of 4. A 4 H Th Ao FeElg aa.... .3
A ) A )
B) (i) () ()
€ (i) € (i
O  (iv) G (v
94, | Let f:l__zna;r__ "'_)[_]al].and 94 HIHT f __2‘”;};:_ }[“l,l] ('ﬁ'
f(x)=sinx then 1 is . | f(x)=sinx ar s 2T
(A)  one to one onto | (A)  Uhh IBIEH _ |
(B)  one to one but not onto ' . (B) Ud% BN WX SMEWEH el
(C)  many to one onto 4G ST R
many to one but not onto O)  dguh BRT Y HATBEh el

1404-01-C/615 LRI | - PEO
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| 4 |
u' “A-["'l ?]m A - 95. qﬁ A . | Jst!

g where » is a positive integer.

noo 0 b (B) e
n -
o ["'n n (B) -] n (A e (L 7 Cie
: ‘ - 1 0
178 o j 510 D ,
(C) [-n 0| 0) -n 1] | W (=0 SN A o
_h{) a _..-0 aaa#‘osﬂ?ﬁo
96 If A_“,B D_,a;ao,ﬂ;eo then 96 i A"ﬂﬁ Ot 5 N
A+A=0= A+A4=0=
B - agez B ape 8 pab=a, el ep=
© aB=o0 B C)  af#0 O  af=-I
1 20,5 108 (0= |
97. If 4=1 0 4 0 then 4-' — 97. E[fa' A= |05 F 0 E-n. A =..
i AR / r e
Sl 0] Sl | O
A) 0 -4 0 | g 0 -4 0
| S 0 e o <)
e ¢ T O | FOLS G0
sl S, | | U
_0_ 0 1__ 1 _0 0 1
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98.

99,

100.

101.  Following sets with operation v are defined
as : | |
( S = {1,2,3,6,1 8};a *h=ab,a,be S
i) S ={,-2,3,2,-4}a*b=ba,beS -
(iii) g — 7 (the set of all integers),
a*b=a+b’;a,be S
(iv) g — N (the set of all natural
numbers);
a*b=a-bya,be s
then % is a binary operation
on : | |
A ) | (i)
© (i o W

If f:z— z be defined by,
f(x)=px+qy where p and ¢ are

integers, then Jof is an identity map if and
only if :

(A) 1

(B) 0

€) L, g =—1
(D) *l,g=0

If f(x)= 2x+1 and g(x)= x? +2, then
(gof ) (4)=

s s s B S
[ S

(A) 34
(B 83
© s

(D) None of these
If g(x)=e" and fog is an identity function
then f(x)=

)Al/ 0 B) x

() =2 O - =

1'& Inagroup Gsa,be G then (a'b)" =...

(B) b-—l a

98.

99.

100.

101.

102.

af  fizoz; flx)=px+qy &
oftsfie & st p ST ¢ o &
Tof T T (dentity) T BI, AR
I Faa A

A p=l

B)  g=0

(@ = prilggs=ts

D) p=tlg=0

al (gof)(4)=.....
n A
B) 83
(o)

(i) - {1,2,3,6.1 3}:a *b=ab,a,be S
(il) S= {11-213:21"4};(7 * b = lﬂzﬂ,b €S

iy 5=z (G qist = age);

a*b=a+b’:a,be S

A ox.... O T fESTE dRb
Gl |
A) () ® @
€ (i) P @
& T 6% abeG ﬂ(ﬂg@"’%
A ab ﬂ ga!r:*
C a'p! : &
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103.  Consider the following regions, 103
A=fx.v)e R :x* 4y’ 2 1and x4 y < 2}
Bafxy)eR x4y’ <landx+ v S 2|
C={x.v)e R ¥ tg:-*lmulr+ r?iq
D ﬁl-”* R*:2% 43 !*741*4:&!*««-v.*'*-ZIL
which one of the folinmnq pair of regions is
convex 7
(A) A B
(B) B,.C
(C) Gl
& DA

104. For x, 20 and x, >0 where 104.
X, +X;, 2)5,4x, —x, <15,4x, —x, £15
the following statements are given
Statement 1 : 3x +2x, has no finite
maximum.
Statement I : 3x, +2x, has no finite
minimum.
Then : |
(A) Both I and II are true
(B) Neither I nor I is true
(C) Only 1 is true
(D) Only II is true
105. Let o and B be two positive real 105,

numbers. If the number of solutions of the
LPP
Maximize, Z = oux + By
subject to, 3x+4y>7

x+y<20

x20,y20
for maximum 7 be infinite, then
(A a=3p=4
B a=4p=3
(C) a=3pB=35
(D) a=p=2

1404-01-C/615 (26 )

Gy AL @ AT
A= 4l 1)£=R3'r’+v22“‘5”+y52
- ,t‘._' - ‘v .

B={(x }’)ER:ZII+."15iQﬂI+J’52}

C =4(x y)e R .
D {(\};)ER 3 4) _lqﬁx+p52}

fan:rﬁzﬁm-méasrgmaﬁﬁ%?

b

e +y 21Mx+y;~_2}

(A) AP
B  B.C
0y P
oy i,

-x; <15
x,+}.225 4x1-—r <15,4x, =%

%mﬁﬁmﬁq;

x, + 2%, Qiiiﬁaqﬁm
e 1 ¢ 3% F :@%l
H Pg dREd

=T A e 2

g 11 ¢ 3x, +2x,

dd .

A [Td 1139 9 &

EB; [od 1% B A T T 8
C) dac 1 T B

O) dad 11 EA 8

4.
e,
Il @ ST,

Z =ox + By
Sxmdy2 7
x+y<20

- x20.920
éﬁﬁﬁEﬁiﬁmiﬁﬁﬂérﬁﬁ%fwl
7 W&aH B, @l

A —a=3=4

B a=4p=3

C)  a=3 A=

D) a=p=2 ¢

P b



(B)
©) f=g
D) none of these

107.  In the group S, of all permutations on 1;!7

: _ 1 2 3
{1,2,3}, the inverse of 3-9 1) 18
12 3
(A 12 3
12 3
(B) a5

<2 '3
B 0

(D) None of these

108.  In symmetric group S, , the total number »f 108.

subgroups is :
A 1

(B). " 2

€ 3

Y. 6 |
109. (Given G=1{1-1,i~i} and 'x' is the 109.

usual multiplication symbol, then (G, X)

IS

(A) 3 cyclic group generated by 1,~!

(B) a cyclic group generated by 1,—i

(C)  a cyclic group generated by 7,

(D)  agroup but not a cyclic group
1404-01-C/615 ( 27 )

3%
| 3 a@nd 106.

1234] *
qﬁf=[24l3 o

[2413

gl 505 IJ =l s = 1,2,3,4;
& a Hag 8, al |
A)  f @A =

B) g B HA -

€.  f=g

©) & § B Tl

[ 23

B) {132]
i’y

© [3 2 J

O T PR T

)
D)
Rar 3, G={,-1,i-i} @ 'y GEMT
T # AT & g, a (G, X). ...
BRI _
(A)  1,-] BN ST T i Y8

(B) 1,~i EIW ST TH THiA T

€ i~ T MG TF Thid T8

©) T HYE BT Al ThE e
- el 8rm

an W N -

[PTO]




R R T T T T e e e R A B P B s S siasen

L | s
. M0 If 4isa nxnmatrixsuchthat |4] =0, then "7
i | adj(adjd)=.......
i A |44
Ii ' jn—-2
i B |44
'H (C) | |A‘u-l A
(O)  None of these
111. If A o [ﬂy]miﬂ 3uch that ay =1 V f,j ;theﬂ 111.
rank A=.....
N 0
B
C m
O n = Mg .
112.  Which of the following matrix is Hermitian ? 112
s
(A i 0
o
B L
i 0
| G o
| i 0
| 15 - i
l I -1 -1 a
e 5 :’ ? : then, 4-' exists if 113
c
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two Dermutatlons NS = :
e ={L.2.3} then s={1,23 W @ AT &, @
g Jog =k
By 12 3
SR A)
)
s 2
(B) (3 1 ;] P
(B) 3 2
)
(C) (1 : ;j e, B
(O 1
1
D) (3 : 3] 1 273
& Ao
i it _ : ;
| R [ = ! L S0k P |
LSl TRl g and . 115, I A-—_O 1’3__—1 0| ¥
[ cos@ singl. :
C = | [ cos@ sind |
|-sin@ cosg | D€ three matrices, C=| _sine cosg| T T &, @
then = . i
(A) Acos@— Bsinf (A) Acos@— Bsinf
(B) Asin @+ Bcos 6 (B) Asin @+ Bcos#
(C) Asin@—- Bcosé (C) Asin@—BcosH
(D) Acos@+ Bsin@ D) Acos@ + Bsinf
st 4 =227 54 7oA
e I X)) ) then x = 6. AW ] 5| W X
B R -3 -10
e L & K
€ e & 1. a0
®) gy ERs
- 4 e
oy gl Ty
D) [4 _17 ©) G =3r
: (29)
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117,

118.

119.

120.

In @ LPP the decision variables can  117.
take.......... values.
(A) any real
(B)  only integer
(C) any non-negative real
©) only non-negative integer
In the given LPP, 118.
Maximize, Z =3x, +2x,
subject to, 2x, +x, <2
3x, +4x, 212
X:3%; 20
The LPP has :
(A) No feasible solution
(B) Unique feasible solution
(C) Infinite feasible solution
(D) None of these
The equations x, +2x,+x;=3 and 119.
2x, +x, +5x, =9 has  solutions '
x, =5,x, ==1,x, =0. These solutions
are
(A) basic and feasible
(B) non-basic but feasible
(C) basic but degenerate
(D) basic and non-degenerate
For the convex set, 120.
={(x,»):|x < L]y 1},
the number of extreme points is :
A 1
B 2
T
()  Infinite
(30)

€ A § W faErsd
O) AR T T srEred

Fod G,
s={wp): < 1<)

ﬁ o feigat H@T...L...ﬁlﬁ’ﬂ

A 1

B) 4

@)+

D) oW
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Which figure of speech is used in the 6.
sentence, "The leaves danced in the

wind" ?

(A) Idiom

(B) Hyperbole

9 Personification
(D) Metaphor

Two figures of speech that involve ¢
comparison are .
(A) Simile and Metaphor
(B) idiom and Phrases
(C) Hyperbole and Simile
(D) Alliteration and Metaphor q
The words "like" and "as" typically appears
ina:
(A) Metaphor
(B) Simile
(C) Hyperbole
(D) /diom 9
The line, "If winter comes, can spring be far
behind" occurs in :
(A)  Ode to the West Wind
(B) To Skylark
(C)  ToNight
(D) The Cloud 0
What is the penalty for Portia's suitors if they
guess the wrong casket ?
(A) They must exile themselves
(B) They must apologize
(C) Death
(D)  They must never marry
&

Who is the first suitor that actually chooses
a casket ?

(A) Bassanio
(B) Antonio

(C)L.-  The Prince of Morocco

"

(D) The Duke of Burgundy

Why does Launcelot want to leave his master
Shylock ?

(A) Shylock pays badly

(B) Shylock has abused him

(C) Shylock is Jewish

(D) Shylock is annoying

Who does Launcelot want to work for instead

of Shylock ?

(A) Bassanio
(B) Antonio
(C) Gratiano
(D) Portia

What does Shylock's daughter Jessica give
Launcelot when he leaves ?

(A)  Herring

By~ Aletter
(C) Keys to Shylock's safe
O)  Amap

When Shylock talks to Jessica about

Launcelot, how does she describe
Launcelot ?

(A) A terrible pers.on
(B)  Afine servant
(C) Untrustworthy
0)  Kind butlazy
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. Who presides over Antonio's trial ? 16

B  Portia
| @ The Duke of Venice
©)  Antonio
12 What sort of character is Portia ?
(A)  Quick-witted and beautiful 0
(B) A free spirit
(&) A rule follower
(O) Al of the above
13. To whom does the title "The Merchanl of
Venice" refer to ? 18.
(A) Shylock
(B) Bassanio
(C) Portia
D) Antonio
14, What was the name of Tennyson's friend who
died ? 19,
(A) Thomas Kyd
(B) Arthur Henry Hallam
(C)f George Garber
(D)  Arthur Thomson
15.  Why Tennyson was sitting on the %0

What is the color of the stones in "Break,
Break, Break" ?

(A) Black
B)  Gray
/@) Brown
(D)  White

The speaker of "Break, Break, Break"

cannot :

9) Feel
(B) Hear
(C) See
D) Speak

What is the mood of speaker in "Break,
Break, Break" ?

Jp)  Contemplative and hopeful

(B)  Sombre and grieved

(C)  Energized |

O)  Light-hearted

Who is the most-quoted poet after
Shakespeare ?

(5) William Wordsworth
(B)  T.S. Eliot

(C)  Alexander Pope
(D)  John Keats

What is the name of Gmsge bterbert'
collection of poems ? ;

(A) TheTempla

9)
(C)
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2. What does Bassanio beg the court to do for ~ 26.
Antonio's sake 7

What does Antonio offer as bond against

any future infidelity by Gratiano or

(A)  Kill Shylock Bassanio ?

(B)  Give Shylock money (A)  His soul

‘9 Take Shylock's knife (B) His estate

@ Bend the rules (C) His flesh
22.  Portia says that Shylock can take his pound ( A chest of gold

of flesh from Antonio but he must not - 27. aat fortuitous events happeh to Antonio at

(A) Be too slow the end of the play ?

(B)  Laugh about it (A)  Shylock dies

(‘C)/ Spill any blood (B) He marries Portia

(D)  Be boastfu | (©  His ships come in
23. What will the state seize if Shylock spills a (D) He becomes a duke

drop of blood while extracting the pound of  28. Who has written "Discovery of India" ?

flesh 7 (A)  Mahatma Gandhi

(A) His entire estate (B) Jawaharlal Nehru

(B)  His knife (C) R.K. Narayan

_59 1is daughter (D)  Rabindra Nath Tagore

(D)  His Venetian citizenship 29.  The essay "The Aim of Life" is written by
24, Antonio offers to return half of Shylock's Jawaharlal Nehru during his imprisonment

estate on the condition Shylock : in :

(A) Apologizes (A) Ahmednagar Fort

(B) Duels with him (9 Red Fort

(C) Give him a loan (C) Agra Fort

\9) Converts to christianity (D) None of the above

25. What tokens does Portia ask from Antonio  30. "A living philosophy must answer the

and Bassanio ? | - problems of today", who said this ?

(A) Gloves and a ring (A) E.M. Forster

_B)  Boots and a ring \(9 J.L. Nehru

Q Diamonds and rubies (C) H.G. Wells

(D) A letter of thanks | (D)  Oscar Wilde
2407-01-B/850 g a G50 [P.T.O.]
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32.

33.

31,

In order to marry Portia, suitor must choose
one of the three caskets. What is the correct
casket made of ?

(A) Bone
(B Lead

€  Gold

D) Silver

What does Portia give Bassanio as a token
of her love ?

(A) The Lead Casket

(B) A Loan
G~ ARing
(D) A Law book

What does Shylock demand that Antonio

pledge as bond for the loan ?
(A) His death

t(EL A pound of flesh'

(C)  His estates

(D)  Portia's hand in marriage

Who is the cleverest character in "The

Merchant of Venice" ?

(A)  Shylock
(B) Antonio
(C) Jessica
D) - Portia

'Matistrwthemeof'Odetoanghtlngale ?
) Moraliy

36.

37.

38.

39.

®  insuting ammw |
o sl

"Oda to a Nightingale" focuses on .

(A) How pleasures are fleeting and life

cannot continue forever

(B) The fall of man into sin

(C) The futility of artistic creation

(0)  None of the above

Who referred

to poets as

"the

unacknowledged legislators of the world" ?

(A) Lord Byron
(B)  William Blake
(C)  William Hazlitt
(0)  P.B. Shelley

Which sonnet form does Keats use ?

(A) ltalian form

(B) French form,

(C) English form

(D) None of the above

forever" ?

(A)  PB: Shelley

B)  John Keats

(C)  G.B. Byron

D)  William Wordsworth

Who said, "A thing of beauty is a joy

How does Gratiano behave towards

Shylock ? |
(A)  Friendly

2 a
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41, Which of Portia's caskets bears the 45 What animal does Shylock remember

mm:?om me must give and Antonio comparing him to ?
| Apl (A)  AHind

(B)  The Silver Casket s

(C)  The Lead Casket B

0)  Allthree Caskets i A

42.  What is inside the gold casket which the 46. How does Antonio plan to respond to
prince of Morocco opens ? Shylock's insistence to collect his pound of

flesh ?
(A) A portrait of Portia
(B) A skull with a scroll
(C) . Afool's portrait

0) A chocolate bar (C)  With reasoning
(D)  With quietness of spirit

(A) With anger and violence

(B) With begging

43.  What cheers up Shylock after hearing of his

daughter's theft ? 47.  What explanation does Shylock give for
(A)  Bassanio's financial ruin continuing to pursue his bond ?
B)  News of Jessica's marriage W,y o haogle
(C)  Tubal tells a joke B)  Itamuses .him
(0)  Antonio's financial ruin (€)  He hates Antonio
44.  What piece of bad news interrupts the ©) For the att'ention_
b, E 'ﬁ ;!, celebrations at Belmont ? 4. What does Bassanio offer Shylock to
| _ ‘The outbreak of war ~ persuade him to forfeithisbond ?

o and  Nerissa's

.........

e
L 1] - - iy - v 3 " & .-I. 1-I
Tl ;‘ o ; 1 'I'["'r Py T o i ' ik U{ R
3 o e A T R o L 4
E M 0T TR R L S
asat 8 S % e ?\:'.:- _
-t ¥ I':..-‘-_ ” 5 e T g
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49 Mydmﬂmammﬂm?
(A) Court an heiress

(B) To buy a house
9, To purchase a ship
©) Togoto university

0. Howmuch money does Shylock offer to lend
Bassanio ?
(A) Eight Thousand ducats
Three T
\(B} housand ducats
(C) Three Hundred ducats
(D) Nothing
o1, George Herbert's poem "Love" is written
in :

(A) Heroic couplet
(B) Dialogue form

: &-

(D) Free verse

Blank verse

52, What is the theme of the poem "Love" ?

(A)  Difference between divine and

mortal love
(B)  Difference between good and evil
©  Encounter with Gog
(D) None of the above
93. G,M.' Hopkins, "God's Grandeur" is 3 -
(A  Lyic
(B) Sonnet

5.

56.

57.

With whom Shylock's

By faith Alexander Pope was
(A)  Roman Catholic
(B)  Protestant

(C)  Both (A) and (B)
(D)  None of the above

In the first stanza of the poem, "On pi
Blindness", what is the concem of

poet ?

(A)  His writing

(B) His blindness

(C) His desire to serve God
(D) All of the above

How many stanzas are there in the poem
"On His Blindness" ?

A2
B) 3
&)1 =4
O 5

In "On His Blindness". Milton compares the

- angels with those who have the talent ang

uses it to serve God °

(A) True
(B) False
€  Cantsay /

O Patalyme
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59.

60.

61.

62.

63.

2407-01-B/850

*Poetry is the spontaneous overflow of 64
powerful feelings”, who said this ?

(A) Milton
‘(9 Wordsworth
(C)  Coleridge

(D) Keats 09,

Adam and Eve are characters in

(A) Paradise Lost

(B) Lycidas

(C)  Tintern Abbey 66.

(D) Comus

Which of these characters appear in

Shakespeare's "The Merchant of Venice" ?

(A) Lydia e
&) Portia

(C) Desdemona

(D)  Cleopatra

Wordsworth was the poet of : b

(A) Love
‘9) Romance

(C) Sadness

(D)  Nature

"The Selfish Giant" is a : ve
. g) Short-story

(B)  Poem

(C)  Novel
9/ ' Essay |

(=)

"The Child is the father of Man" said by :

(A)
(B)

‘9

(D)

Browning
Dryden
Wordsworth
Pope

At what age Milton became blind ?

(A)
(B)
©)
D)

A4
09
38
50

Rabindra Nath Tagore wrote :

(A)
(B)
€)

@)

Poems

Drama
Short-stories

All of the above

Shakespeare was born in which city/town ?

A)
O
©
D

England
America
Stratford-upon-Avon

Ireland

Which of these plays are written by William
Shakespeare ? |

‘(5} The Merchant of Venice

(B)  Doctor Faustus

(C) The Alchemist

(O)  The Cenci

How many times did Milton marry ?
(A)  Two times

(B)  Three times

(C)  Only once

(D) Never -

. Pt
e
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What scaled the poet's spirit ?

(A) A joke

B) A victory
(C) A prize
©) A slumber

What does “Slumber* mean in the poem ?
(A) A deep sleep in the form of death
of the poet's beloved lady

(B) Sleep
(C) Deep sleep
D) None of the above

How many plays are generally attributed to
Shakespeare ?

A 37
® Z
€ 47
O 30

What was Shakespeare's father's
profession ?

(A) Actor

(B) Glove-maker

(C)  Carriage-driver

9 Farmer | |
Theplay " The Memha_ntﬂ"' f Véniné' contains
Shakespeare's first great _ hero.
LR L T s, A
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80.  The essayist Robert Lynd belongs to

85,
(A) Africa
(B) Ireland
/(C) Russia
©)  England
81.  "On being a bore" is a _____ essay. 86.
(A) Humorous
(B) Critical
(C)  Religious
(D) Conversational
82.  Absentmindedness is sometimes called 87,
(A) Virtue
(B) Vice
(C)  Remedy
(D) None of the above
83. "India Again” is written by : 88.
(A)  W.H. Auden
@/ E.M. Forster
(C) H.G. Wells
(D)  Oscar Wilde
84.  Wordsworth was popularly known as the aé.
poet of :
(A)  Lake District |
B)  Lancashire Region
(cj Wessex Region
(D)  None of the abovg
' (1)

I.I.&..

P [ 1 +, ‘:E"" "'.r'.-'_.'-!'-. . o 3 | -
2 N I': N . Z LA g rld.‘_"‘.. ' I‘
LA g e SRR S ‘-!r i ‘{#
' I = P y
iy o i - .’E-L:E" 'ﬁ.nl' nﬁ.*

Who accused Wordsworth of being “a lost
leader" ?

(A) Byron
..@) Shelley
(C) Browning
(D) Keats

Which of these novels Is written by E.M.
Forster 7

(A) A Passage to India

(B) Home and the World
(C) Untouchable

(D) Waiting for Mahatma

"Nature never did betray, the heart that loved
her", who said this ?

(A) Coleridge

(B) Keats

(C)  Wordsworth

(D) Southey

What was the name of Wordsworth's
sister 7

(A) Dorothy

@ Lucy
(C) Jink
(D) Nim

The name of Rabindra Nath Tagore's Nobel-
Prize winning book is

(A)  Gora

(B)  Gitanjal
(C)  Kabuliwala
(O)  None of the above
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91.

92,

93.

What was the cause of the death of Keats at
such an early age ?

(A) Disease of consumiption

(B) Frustration in love

(©)  Adverse criticism of his poetry
D) Drnwning1

The predominant theme of H.G. Well's "The
Country of the Blind" is -

(A) Crime and punishment
(B) Isolation, disability and blindness

(C) Ambition and aspiration

(D) Slavery

What kind of poems did Keats write the
most ?

(A) Ode
(B) Play
(C) Drama

(D) None of the above

Escapism can be noticed in Keats' work
(A)  OdetoDuty |

(B) Ode on a Grecian Urn

€)  Ode to a Nightingale

(D) Hyperion

During which decade did Tagore Wte most
of his short-stories ?

(A)  1900's

(B)  1870's

95.

96.

97

98.

99.

Shelley's death was caused by :

(A) Drowning

(B) Consumption

(C) Fighting
6) Poisoning

Who is "destroyer and preserver’ ?
(A) The beloved

(B) The west wind

(C) Revolution

(D) God

When "The. Country of the Blind" was first
published ?

(A) 1920

(B) 1904

(@) 1918

D) 1890

- Which historical movement inspired Shelley

to write "Ode to the West Wind" ?

(A)
(B)
©)

French Revolution
American Revolution
The Battle of Waterloo ‘

Oy  The War of Roses

Who called Shelley "An ineffectual angel
beating in the void his luminous wings in
vain' ? 5 g
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)  Victorian poet
101.  Today Herbert's poetry is used as :

(A)  Lyrics

B) Elegy

(C)  Hymns and Songs
9 Ode

102.  Why does Bassanio seek to marry Portia in
the first place ?

(Al He loves her

éE} He needs her money
(C) He needs a wife

(D) To resolve political issues

103. What does cross-dressing allow Portia to
do ?

(A) Provide comic relief
(B) Seduce Bassanio
(C)  Trick her friends

(D)  Assume power and position

104.  According to Portia, what is the character
) fault of the English suitor who came to guess
* the correct casket ?

(A),  Poor language skill
B)  Drunkenness
(C)  Obsession with horses

(D)  Over-serious

(13)

105  What did each of Portia's suitors do before
leaving ?

(A) Opened the casket
(B) Had dinner with Portia
(C) Refused to choose casket

D

106.  In an aside, what does Shylock confess 7

Choose the wrong casket

(A) He hates Antonio
(B) He hates his daughter
(C) He hates Bassanio

(D) He hates Venice

107. How does Bassanio feel about the
arrangement and the condition of the loan ?

(A) Grateful

(B) Indifferent
(C) Suspicious
D)  Angry

108. Which figure of speech is used when a
statement is exaggerated in a poem ?

(A) Alliteration
(B) Metonymy
(C) Hyperbole
(D) Onomatopoeia

109.  Which figure of speech is used in the
sentence, "Life is like a box of chocolate" ?

(A) Simile
(B) Metaphor
(C)  Paradox

@) Personification

o= 5 -'.-|.
o T
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110. . |
In"The Country of the Blind", Nunez is a : 116, Who is the author of the poem "On His

(A Cricketer Blindness" ?
(B)  Mountaineer (A)  John Milton
€  Wrestler (B)  John Smith
m. $:10 s t::t::aster of Nune M st
Z? (D)  John Keats
| ) Medina s s ln wﬁat language did Rabindra Nath Tagore
B)  Lydia write ?
©  Yacob - A Hind
©®)  Michael P (8. Bengal
112, Who is the writer of "The Postmaster" ? (C) Arabic
(A) J.L. Nehru D) Tamil

(B)  RN. Tagore

118. In which form the poem, "On His Bli 3
(C) R.K. Narayan poem, "On His Blindness

IS written ?
(D) M.K. Gandhi (A) Sonnet
113. What is the postmaster's main hobby ? B)  Lyric
(A) Fishing ©) Ode
(B) Writing songs (D) Elegy

(C) 'Birdwatchlng

3 | 119. Who said about himself ?
D) Writing poetry |

"My name is writ in water".

114, H.G. Wells' "The Country of the Blind" is a : gl
i Neval 5 ._ /@_), John Milton =~
S ) B). . PB Shelley -
P ©  Shortstory (C)  John Keats
B D)  Poetry D) oo ot
o 115, What is the name of the orphan girl in "The: @ _The_ pos_hnaster FanSionatic aduin which
B 5 o T ' U, el .
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